
SAP ABAP table V_OIRAREPSUMCOLV {Generated Table for View}

V_OIRAREPSUMCOLV

MANDT [CLNT (3)]

REPORT [CHAR (40)]

LIVAR [CHAR (2)]

KSCHL [CHAR (4)]

NRCOL [NUMC (2)]

F_VALUE [CHAR (80)]

OIRAREPSUMCOL

MANDT [CLNT (3)]

REPORT [CHAR (40)]

LIVAR [CHAR (2)]

KSCHL [CHAR (4)]

NRCOL [NUMC (2)]

 V_OIRAREPSUMCOLV-NRCOL = OIRAREPSUMCOL-NRCOL 
0..N

0..N

OIRAREPSUMCOLS

REPORT [CHAR (40)] V_OIRAREPSUMCOLV-REPORT = OIRAREPSUMCOLS-REPORT 
0..N

0..N
OIRC_WST

MANDT [CLNT (3)]

LIVAR [CHAR (2)]

 V_OIRAREPSUMCOLV-LIVAR = OIRC_WST-LIVAR 
0..N0..N

T000

MANDT [CLNT (3)]

 V_OIRAREPSUMCOLV-MANDT = T000-MANDT 

0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 V_OIRAREPSUMCOLV-KSCHL = T685-KSCHL 

0..N

0..N


